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PART - A
Antonyms

Directions : Each item in this section consists of a sentence with an underlined word followed by four
words or groups of words. Select the option that is opposite in meaning to the underlined word and mark
your response on the Answer Sheet accordingly.

1. Mohan was living in a deplorable condition.
(a) reprehensible
(b) o robrious
(¢) despicable

(d) commendable

2.  These exercises will counteract the effects of stress and tension.
(a) exacerbate
(b) fi
(¢) thwart

(d) contravene

3.  You have to persevere with difficult students.
(a) giveup
(b) persist
(¢) carryon
(d) stand firm

4.  Their new colour scheme is hideous.
(a) appalling
(b)  beautiful
(¢) grotesque

(d) macabre

5. Everywhere they go, they squander their earnings.
(a) fritter away
(b) splurge
(¢) squabble
(d) manage

RRAN-A-GAT (2-A)
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Sentence Completion

»tions : Each of the following items features one part of a sentence, followed by four alternatives.

Complete the sentence by choosing the correct alternative and mark your response on the Answer & zet

Di.
accordingly.
16. He paused

17.

18.

19.

20.

RR

(a) with afew ioments.
(b) for a few moments.
(¢) by afew moments.

(d) into a few moments.

Late at night, our car

(a) broke down on the highway.
(b) broke up o the highway.
(c) broke into the highway.

(d) broke out on the highway.

All the countries signed the treaty

(a) beneath Germany and France.

(b) except Germany and France.
(¢) among Germany and France.

(d) during Germany and France.

I reminded her

(a) toturnoff e lights at night.
(b)  to call off the lights at night.
(c)  todrop off the lights at night.

(d) to break off the lights at night.

They told us about the woman
(a) whom lived next door.
(b)  which lived next door.
(c)  who lived next door.

(d) whose lived next door.

-A-GAT

(a)
(b)
(c)
(d)

(a)
(b)
()
(d)

(a)
(b)
(c)
(d)

(a)

(b)

(c)

(d)

(a)
(b)
(e)
(d

(4-A)

21. TI'll see you

at the end of February.
o he end of February.
along the end of February.
for the end of February.

22. I dislike films

who have sad endings.
that have sad endings.
whose have sad endings.

whom have sad endings.

23. The thieves denied

having stealing the money.
stealing the money.
hi... stolen the money.

having to steal the money.

24, Did you

drop out to see Sunita on your iy
home ?

drop in to see Sunita on your way
home ?

drop behind to see Sunita on your way
home ?

drop away to see Sunita on your way
home ?

25. Would you like to

meeting her ?
meet her ?
m er?

meet with her ?
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Ordering of Words in a Sentence

Dir. tions : Each of the following items in this section consists of a ntence, the parts of which have been
Jumbled as P, @, R and S. Rearrange the jumbled parts of the senten s into sequence ~1  select the correct
sequence as (a), (b), (c), and (d) given below and mark your response on the Answer Sh_.t accordingly.

31. include basic free »ms the fundamental rights are guaranteed to the individual basic rights and

P Q R S

(a) QSPR (b) ¢« SPp (c) SQRP (d) RQSP

32. for many millennia been in the making of a historical pr :ss that has

P Q R
the Indian nation is the product
S
(a) SRQP (b) SQPR (c) PRSQ (d) RSQP

33. an epoch that was imbued for its people the start of with a new vision

P Q R
India’s Ir :pendence represented
S
(a) SQPR (b) QRPS (c) SPQ (d) RQSP

34. science and mathematics exhib on for a discussion on the forthcoming

P Q
to be present befa the Principal all students have been instructed
R S
(a) SQPR (b) RPQS (c) SRQP (d) QPRS

35. two bowlers and two batsmen respectively to the new team  with the selection of another play

Q R
the team now has
S
(a) QPRS (b) SQRP (c) RQSP (d) RPSQ
RRA A-GAT (6-A)
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51. = ufcQyshl %1 Tk IF9a gaoH e w2, | 53.
i s sy wraf@a R =402 1 A
3 B fagati & &= "2 whdg =1 2 2 (Y%
gfeQier T 99 THENHE, R=48)

% % éwé ........ )
R R

Bo AN
(a) 0Q
b 2+2/50Q
(e) 2+\/5§)

d) O
52. i< u fagd aiwy femmmn g (v, =1 v | 5
gfa" R=1000Q # |
oA
-V éR
0B
yfeiy R ® 9 Bt Ya1fgd 89 ITelt 9”7 1 mA
% 7edd e @ 3R foig A 3 B & sm-n
Fieedl, Vap = 1V 2 | 3@ iy & femgen
qﬁaﬁa%mm %:
oA
TV, -V, %R
oB
SRl Vo, &I | = 5 V& | QHI Sl 1 T
yfele 0-1 O 8 | Ifay R | 3§ gt JaTgd 8
aefl g T B B 2
(a) 10mA
b 12mA
(¢) 30mA
(d 50mA
N-A-GAT (10-A)

afe fese um ¥ 9on areht feeft dga @ 7
T & EF aTell 9T 15 A & 3R w3 10 fime
% fou wedft B, @ 39 ww % g0 wefa |

vanfed & aren Ay fahamn 2 2
(a) 150C

(b) 150C

(¢) 900C

(d) 9000C

afed =t &1 i fag s % foae foedt 3
¥ BE H gday AR ffafga § @
TR ?

(a)

(b)

(c)

(d) I
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PART-B

51. An infinite combination of resistors, each | 53
having resistance R = 4 Q, is given below.
What is the net resistance between the points
A and B ? (Each resistance is of equal value,
R=4)

R R
Ao—AWWA AW
R R R R ........ oo
R R

Bo— AW
(a) 0Q
b 2+2/50Q
© 2+J/5Q
(d) ~Q

52. An electric circuit is given below. V; =1V and
Resistance R = 1000 Q. 54.

oA
-V, R

oB
The current through the resistance R is very
close to 1 mA and the voltage across point A
and B, Vyg =1 V. Now the circuit is changed
to:
IR
I3

°oB
where value of V, = 5V. The internal
resistances of both the batteries are 0-1 Q.
The current through the resistance R is
about :
(a) 1-0mA
(b) 1-2mA
() 30mA
(d 50mA
RRAN-A-GAT (11-A)

If the current through an electrical machine
running on direct current is 15 A and the
machine runs for 10 minutes, the charge that
passes through the machine during this time

s :

(a) 150C
(b) 150C
() 900C
(d 9000C

Which one of the following is the best shape of
a solid metal rod to form the top end of
a lightning conductor ?

(a)

(b)

(©)

)
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66. fooma w gufed ond-ams go+ 8, I
foraa =gcaa giar B 2
(a) *<hdsh
(b) ATEHRA
(c) EﬁHTE[
@ s
67. V,0,H dfsan I TTariehtur Saw #7413 2
(a) +2
by +4
() +
d +5
68. H-I &I 11 & gafera Shifse 3t gi=t & | 70.
= few e e w1 3E = aE I g
g1 G-I
(T BT (7rerH )
HTEY)
A, THE 1. WEHaH 3N yaaaH
e
B. #W 2. HIRaH ki g
C. HoH 3. IUd goh 3N yE A
e
D. UTHH 4. 75 3R foesa (fdh)
aered
E &
A B C D
@ 4 2 3 1
® 4 3 2 1
() 1 3 2 4
@ 1 2 3 4
RRAN-A-GAT (16-A)

2. W@ % @ fan fi fafy ofeem A
gaT § (24 92) UEA B |

394 A ¥ HH-1/HA-] Y TEl /8 2
(a) Had 1

(b) HIA 2

(¢ 1323

(@ T@1,T82

‘yflm S’ & dey § fefafaa § @

-1 /HA-H B TEl B/ 2

1. HR Yad geefl & aigeed § 9 %
v gHl gehiT yal H AR FeRE @
It & 3R T gerw o1 wegH iy =
Ty # foas qan |

2. A &u agwsa &I faftm Al @ o= 3
forn & € ot yw o = few W @
AW B A R |

3. T 2023 T, WEM@ % MY T R
AT qusmen g WRa H U *
e # gt sfa o fam forem man

=2 few T Fe w1 FE W= IW g
(a) Had 1

(b) HadA 2 3 3

(¢) wha— 13 3

@ 1,%29R3
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71.

FI9IFR 2T (Barchan) % gey o fafafaa
# ¥ PH-F1/FA-A U T /8 2

1. Ig 9] H 3-SR del §, S neeyd
# 9y % O & & fom #§ s @
fafia g 2

2. vYImgE 1 il T I W Bt ?
wd 3ftrpan Su1$ 39S ae A Bt R |

3. SR 258 % Wl BN g1 FEAl 8,
3R A 9o & g FI fom & foada fean
H 3N Thd W T |

H g Twge s wET W IW I

(a) %aa 1

(b) Fad 130 2

(c) %a@ 23N 3

@ 1,233

2. W wm ¥ wew § Peatew § @

RRAN-A-GAT

FH_G1/H-0 H dE B/2 ?

1. I8 g @ #, g () ol 3@t
qa R |

2. g 3Iw IR ong uifeufeat & wmon
TRl T e W e g8 ® |

3. TE S U ANS ®Y H HIE H @l H
St € |

:ﬁéﬁqwﬁmwﬂmwgﬁm
(@) 132
(b) 233
¢ Fq 2
(d) a9 3

73.

74.

(18-A)

o 4 et fafafega w4 @

FH-F1/F-A TR /3 2

1. WEl Hl IuE R IF TU F AWR W
Fffeha fora ST 2 |

2. Fuid & IAER 37 IA, A W ™=
Aol % ¥ H Fiffepa foran T R

3. T, auied i wWh-wurEh 79 3= Ay
TAE |

= feu T g2 1 yEm W I g

(a) %ad 1

(b) Fad 13 2

(¢) %ad 23N 3

d 1,23MW3

‘G’ % dEy ¥ fafafga s w AR

$ifere

1. aww @ &7 § wfewm f@ R, 98 aw
e o i sgeme o @ |

2. ¥ita aram afsa wen @ weg ? |

3. IS grqT, I s 9 A (@ 1)
wE 3¢ a1y U (Wgfd) & 9 H dm
g, S W g, I A F IW
fruret Bt 3 S 3T ST I3 R |

I o ¥ HA-T1/HH-8 FuA g8 2/8 2
(a) Had 1

(b) had 13K 2

(¢) Had 23 3

@ 1,; 43
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75. W & ®ey H fefafa s | fER | 7.
Him
1. 7 qaen 7 aifeam o Hfeaem i A
Fga fue & 3 et pH 7.0 & 3ifuw
&, 9 i, T E
2. IR FIWE PG GFFA SEC @@l W
3w wg g aRfeafadl & snw fysfia
R
3. AR ¥ [t wag B fen s @
aueEg § Jmar @ 3k o fafaer =
e g e 2 | 8.
9 O A -1/ HA-0 FHeE Td /3 2
(a) Had 1
(b) Hael 13 2
(¢) had 23 3
@ 1,233
79.
76. forelt wmayfu (umecis) i Frafafea faemare
q'{flcﬁﬂ'zﬁﬁﬂl:
1. " dEn 1 oaEi W we foeqa &
I g% o e A7 Wed B
2. I h Jerarg i fowward, I dsaeeTd,
331 fiawid 3 ImERd =@ AW W | g
3. g um H, aE R gfg w e Sun
a6 A1 359 A gt ? |
sudw faomarelt & omm w, ¥ i
faweat @ @ vt wrefy = g .
(a) IS
(b) WS
(¢) a1
(d Yo
RR I-A-GAT (20-A)

wiftT iR % wew o, fuaf a4 @

HI-T1 T TE R ?

(a) o e HEHIT= & 94 Bd B |

) IFTAMEH AT A S |

(0) gmﬁ@qﬁ%ﬁgaﬁtm@aﬁ@%
1

@) A wewfafis, W e SRR
GiESKECK RN

frafafaa d @ #9-w1, 9% ggag & 9
TET 2 7

(a) @

(b) WA

(¢) -

d) e

fafafea @ 8 SF-w1, sgdt Jieaa & gaR
TE A B ?

(@) WA - - Fas - am

(b) W - - Fas A

(¢ WEH —fT - 3 - Fah

(d) W —Fas - 37 T

frafafaa Hifve vt w e il
1. HAEEe

2.  HSHETR

3. SHiftkd

4. & ame

I # A foren/fore, wifor ek 5 A
i 8/ 2
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75. Consider the following statements regarding | 77.
soils :

1. Soils having a very high content of
sodium and calcium and pH of more
than 7-0 are alkaline soils.

2. Black cotton soil had developed on the
Deccan basaltic lava under hot and
humid conditions.

3. Laterite soils are characterised by a
deep weathered layer from which silica
has been leached. 8.

Which of the statements given above is/are

correct ?

(a) 1lonly

(b) 1and 2 only

(¢) 2and3only

(d 1,2and 3

79.
76. Consider the following characteristics of a
grassland :

1. An extensive area of mid Ilatitude
grasslands are devoid of trees and
shrubs.

2. The climate is characterised by hot
summers, cold winters and relatively | 80.
low rainfall occurring mainly in spring
and summer.

3. In humid parts, grasses grow to a meter
or more in height.

On the basis of the above characteristics,

select the correct grassland from the options

given below :

(a) Steppes

(b) Prairies

(¢) Savanna

(d) Pampas

RRAN-A-GAT (21-A)

Which of the following statements regar}ding

animal cell membrane is correct ?

(a) They are composed of phospholipids
only.

(b) They are composed of proteins only.

(¢) They are composed of phospholipids and
proteins only.

(d) They are composed of phospholipids,
proteins and cholesterol (lipid).

Which of the following is not a part of

compound microscope ?

(a) Mirror

(b) Stage
(¢) Clip
(d) Retina

Which one of the following is the correct

sequence in increasing complexity ?

(a) Protein — Organism — Tissue — Organ
(b) Protein — Organ — Tissue — Organism
(¢) Protein ~ Organism — Organ — Tissue

(d) Protein ~ Tissue — Organ — Organism

Consider the following cell types :

1. Monocyte
2. Chondrocyte
3. Basophil

4. Lymphocyte

How many of the above belong to animal cell

types ?
(a 1
(b) 2
() 3
d 4
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81. WHd YA a3 #, Fafafaas § @ e i
yftren #A-H # 2
@ @ fogwl (fafie gieea) =t ded &
o gss-afshasi 1 wau
() Tora = g ok fEfa m=a
(¢) oW, e ofR Wit (Wéw) =t
eI
(d) TTHII AT I IgTEHH FHET
82, T=fafaa oAt W faar Hifvw
1. & HWfA faga da1 2 @ DNA @
yftrepedia i R |
9. HHA Wi B Wiy favem & v
TS-ATHN o URET H ST el B |
3. Widehgsh!  AIRRER) IR gehgehl
(FhiEe), At § Fiftew favem & oo
THEAH TR E |
30 4 | HH-U1/HH-8 HIH T8 8/8 2
(a) Had 1
(b) Had 13 2
(© 1,23W3
d) Had 3
83. T ¥ 0-24 kg SUNH & Th UHEHM HX
whe s o} | 3@ afaw feufa |, 3 3,
W, 3t W, & T I ] | W, 39 TF RR A
02m A PR, s@fE Wyt RV 04m
1 g W 2 | A = | W, & wRo AR
A N, 3R W, % HRu ARG o N, 8, @ -
(g = 10-0 m s~2 i)
(a) N;=16N3RN,=08N
(b) N;=08N3NN,=16N
(@@ N;=06N3NN,=18N
(d N;=18N3MN,=06N
RRA A-GAT

84.

85.

86.

(22-A)

geeft @ ol =19 (TEHY T€) 11-2 km s~1 &
fi#e 3 | g Iwmre A, ek B gelt 6
o & et B oMk ot g waea geeft
% TEHE Ve § 9R A g, YA 9
km s-1 T “rgeh fee rft 2

(a) 112

(b) 158

(C)b5-6

@ 79

frafafes & @ F9-w1, 7@ et § wfy o

T AN AT BB 2

(a) 9 Sl I IiEE W &

(b) I8 T WIEAN I ATl Bl B

(c) I EAE

@ 3 b H g d, o ggEt 7 oSt @
WA Sl &

0-1 kg Zo9HH <hl T i B! 0-45 m Fl 18 @
FOR d R fimn Smar 8 3K 98 0-20 m 391
ThIoTdi g | WolsHUaaH T 5
o off, d 3o IDed qUT 9 W ARAMNG I
¥ 8 : (/e T g = 10 m s—2 W)

(a) 10N
by 607
(¢ 30N

d ON
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81. In the human digestive system, which one | 84.
among the following is the role of the
pancreas ?

(a) Secretion of surfactants to break up
lipid droplets

(b) Storage and regulated release of bile

(¢) Secretion of lipase, amylase and
protease

(d) Neutralizing stomach acids

82. Consider the following statements :

1. DNA replication takes place when
chromatin is opened up.

2. Chromatin  organises  itself into 85.
rod-shaped chromosomes before cell
division.

3. Both prokaryotes and eukaryotes have
the same process for cell division.

Which of the statements given above is/are

correct ?

(a) 1only

(b) 1and2only

(¢) 1,2and 3

(d) 3only 86.

83. A uniform meter scale of mass 0-24 kg is
made of steel. It is kept on two wedges, W,
and W,, in a horizontal position. W is at a
distance of 0-2 m from one of its ends, while
W, is at distance of 04 m from the other end.

If the force on the scale is N; due to W; and

Ny due to W, then : (take g = 10-0 m s72)

(a) N;=16Nand Ny=08N

(b) N;=08NandNy=16N

() N;=06NandNy;=18N

(d) N;=18NandNy;=06N

RRAN-A-GAT (23-A)

Escape speed from the Earth is close to
11-2 km s~L. On another planet whose radius
is half of the Earth’s radius and whose mass
density is four times that of the Earth, the

escape speed in km s~! will be close to :

(a) 112
(b) 158
(c) 56
d 79

Which one of the following does not apply to

sound waves in fluids ?

(a) They transport energy

(b) They need a medium to travel
(¢) They are transverse

(d) They travel faster in liquids than in
gases

A ball of 0-1 kg mass is dropped on a hard
floor from a height of 0-45 m and rises to a
height of 0-20 m. If it was in touch with the
floor for 0-1 s, the net force it applied on the

floor while bouncing is (take the
gravitational acceleration g = 10 m s™2)

(a) 10N

(b) 60N

(¢) 30N

(d 50N
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87. Which one of the following statements 89.
regarding simple pendulum is correct ?
Simple pendulum has a time period
independent of amplitude :
(a) only for small amplitudes because then
the net force on its bob is independent of
its displacement.
(b) for any amplitude because the net force
on the bob is always proportional to
its displacement.
(¢) for any amplitude because the net force
on the bob is independent of its
displacement.
(d) only for small amplitudes because then
the net force on its bob is proportional to
its displacement.
90.
88. Which one of the following about different
frictional forces is correct ?
(a) Kinetic friction > Static friction >
Rolling friction
(b) Static friction > Rolling friction >
Kinetic friction
(¢) Static friction > Kinetic friction >
Rolling friction
(d) Static friction > Kinetic friction =
Rolling friction
RRAN-A-GAT (25-A)

A metallic beb X of mass m is released from
position A. It collides elastically with
another identical bob Y placed at rest at
position B on a horizontal frictionless table.
The angle AOB is 30°.

How high does the bob X rise immediately
after the collision ?

(a) To the same height as that of position A
on the other side in the same trajectory

(b) To half the height as that of position A
on the other side along the same
trajectory

(¢) The same height at position A
(d) It stops at position B

Consider the two statements given below :

Statement-1: Infrared waves are also called
heat waves.

Statement-2 : Water molecules readily absorb
infrared waves.

Select the correct answer using the code given

below :

(a) Both the statements are individually
true and Statement-2 is the correct
explanation of Statement-1.

(b) Both the statements are individually

true, but Statement-2 is no# the
correct explanation of Statement-1.

(¢) Statement-1 is true, but Statement-2 is
false.

(d) Statement-2 is true, but Statement-1 is
false.
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91. Which of the following statements are |gg,
correct ?

1. British ‘trade surplus’ with India in the
nineteenth century meant that the
value of British exports to India was
much higher than the value of British
imports from India.

2. India played a crucial role in the
late-nineteenth-century world economy
by helping Britain balance its deficits.

3. Britain grew opium in India and
exported it to China and, therefore, for a
while after the 1820s, opium became
India’s single largest export. .

4. The nineteenth century saw export of
Indian raw materials decline, and that
of manufactured goods increase.

Select the answer using the code given below :

(a) 1and 2only

(b)y 3 and 4 only

() 1,2,3and4

(d 1,2 and 3 only

92. Match List-I with List-II and select the
correct answer using the code given below the

Lists :

95.
List-1 List-1I
(Unit in use in (Content)
early India)

A. Muhurta 1. Measure of weight

B. Raktika 2. Measure of time

C. Angula 3. Metre of poetry

D. Pada 4. Measure of length

Code:

A B € D

(a) 2 1 4 3

(b) 2 4 1 3

© 3 4 1 2

@ 3 1 4 2

RRAN-A-GAT (27-A)

First coins in Indian history bearing the
names and images of rulers were issued by
the :

(a) Mauryas

(b)  Pushyabhutis
(¢) Guptas

(d) Indo-Greeks

in the nineteenth and
the

emergence of industrialisation, urbanisation,

Social theorists

twentieth centuries emphasised

secularisation and bureaucratisation as

hallmarks of :

(a) Modernity
(b) Feudalism
(¢) Kingship

(d) Medievalism

Consider the following events :

1. Launch of Non-Cooperation Movement
2. All-India Khilafat Conference in Delhi
3. Passing of the Rowlatt Act

4.  Jallianwala Bagh incident

Which one of the following is the correct

chronological order of the given events

(earliest to latest) ?

(a) 1,2,3,4
(b)) 3,4,2,1
© 3,241
d 23,4,1
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119. & T foRiwarsti &% YR W Y-SHEW (land

120.

121.

RRAN-A-GAT

biome) ¥ ygE™ HIfST :

1. 3Th Joaarg $ fomivar sl ant ok
Wa ¥ gg-va o whaffa @9 T
A9HE £ |

2. T o § I &Y ¥ qoiwht g § - o
n9d, 3, fewit 3 dfegs w2 |

3. g H WA, ofUrEH, IATEE AW
fierefat  § ot € 1

2 fow e fowedi & @ wE Sfiam @ g

(a) ITehfcati v

(b) I NSy aq

() wfEa o=

(d) HEIE 34

siftreprer Rl H ufet 70 fewd <@t € wife

(a) o 3R i g A rEwfvg e 2
Heafer g T i TEfdd HET 8 |

(b) had B THIY ! G HLT 2 |

(¢) B JHI HI EUING H B Falh A
a i Yo I quEfad At 8 |

(d) T Y Hl qUEfdd war g 991 i
N R I I AT T 2 |

ftrpTer Wb [ (MihRAIeE) ®, oE e
ferareft B1elt 2 2

(a) 4
(b) 3
© 2
(d 1

(36-A)

122. AT DNA ! T4 (3F1gH) Hel Il 8 Fifh

TE TG TR
(a) Tl Shwiee @
(b) WA
ORRGLISIELES)
@ wifers ¥

123. Ffafga wiftmwet & & feas gm fed

o feem (WEH) F faeg medt
(Thaidl) 3 fopa Smar 8 2

 forerame
(b) uRwETEE
() gnfEITRa
(d) wieee

124, afe 9 feu U fox § yeifq @< P = fam

AFEAT § @ W, 9 §A F HT 9@ R

B ?

10 N &— —> 2 N

15 Ne———— —— 15N

(a) 5N
(by 6N
(¢} 8N

(d) 10N
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119. Identify the land biome on the basis of the
given characteristics :

1. Their climates are characterised by high
rainfall and temperatures that vary
from cold to mild.

2. These forests contain  primarily
deciduous trees — including maple, oak,
hickory and beechwood.

3. Raccoons, opossums, bats and squirrels
are found in the trees.

Select the correct land biome from the options

given below :

(a) Tropical forest

(b): Temperate forest

(c) Boreal forest

(d) Mediterranean forest

120. Leaves of most plants appear green because
the chlorophyll present in it :

(a) absorbs red and blue light while
reflecting green light.

(b) absorbs green light only.

(¢) absorbs green light while reflecting red
and blue light.

(d) reflects red light and absorbs blue and
green light.

121. In most prokaryotes, the chromosome number
is:

(a) 4

by 3

() 2

d 1
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122.

123.

Bacterial DNA is referred to as naked because
it is not associated with :

(a) any scaffold
(b) proteins

(¢) ribozymes
(d) plasmid

Which one among the following cells produces
antibodies against a foreign antigen ?

(a) Lymphocytes
(b) Erythrocytes
(c) Eosinophils
(d) Platelets

124. If the block P as shown in the figure below

(37-A)

were to be at rest, what should the magnitude
of force F be ?

10 N &—

15 Ne—————

(@ 5N
(b) 6N
(0 8N
(d 10N
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129. Which of the following statements with regard

130.

to the of the

rainbow formation by water droplets is/are

phenomenon primary

correct ?

1. It involves refraction and one internal
reflection of sunlight.

2. It involves refraction of sunlight only.
3. It is formed as the inner bow.
4. It may involve more than one internal

reflection as well as refraction of
sunlight.

Select the answer using the code given below :

(a) 1only

(b) 1land3

(¢) 3and4

(d 2and3

Which one of the following scientists

mentioned that an electron in an atom could
revolve in certain stable orbits without the

emission of radiant energy ?

(a) Ernest Rutherford

(b) J.J. Thomson

(¢) Niels Bohr

(d) Albert Einstein
RRAN-A-GAT

131.

132.

133.

(41-A)

LIGO experiment confirmed one of the

predictions of :

(a) String theory

(b)  Special theory of relativity
(¢) Quantum mechanics

(d) General theory of relativity

A block of mass 2 kg, moving with the initial
speed of 3 m/s comes to rest on a
rough horizontal surface after travelling a
distance of 3 m. The magnitude of the
frictional force is :

(a) 9N
(b) 3N
(@ 18N
(d 1IN

Which one of the following is primarily

responsible for conduction of current in a

metal ?

(a) Bound electrons

(b)  Free electrons

(¢) Both bound and free electrons
(d) Ioms
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144. Recently the Ministry of Environment, Forest | 147.
and Climate Change has submitted three
nominations from India for Wetland City
Accreditation (WCA) under the Ramsar
Convention on Wetlands. Which one among
the following cities is not one among them ?

(a) Indore

(b) Bhopal

(¢) Udaipur

(d) Jodhpur

145. Which of the following statements is/are
correct ?

1. In India, 12tP March is celebrated as the
National Youth Day. 148

2. National Youth Day is celebrated to )
commemorate the birth anniversary of
Swami Vivekananda.

Select the answer using the code given below :

(a) 1only

(b) 2only

(¢c) Bothland2

(d) Neither 1 nor 2

. . 149.

146. Consider the following statements about INS
Sagardhwani :

1. It is an oceanographic research vessel of
Naval Physical and Oceanographic
Laboratory (! OL) of DRDO.

2. Recently it embarked on the Sagar
Maitri Mission-4 to establish long-term
scientific partnerships with Indian
Ocean Rim countries in Ocean Research
and Development. 150.

Which of the statements given above is/are

correct ?

(a) 1only

(b) 2only

(c) Bothland 2

(d) Neither 1 nor 2

RRAN-A-GAT (47 -A)

Who among the following is the Chairman of
the by the

Government of India to examine the issue of

Committee constituted

holding simultaneous elections in the country

and to make recommendations thereon ?

(a) Union Home Minister Shri Amit Shah

(b)  Chief Justice of India Shri Dhananjaya
Yeshwant Chandrachud

(¢) Former President of India Shri Ram
Nath Kovind

(d) Chief Election Commissioner of dia

Shri Rajiv Kumar

In January 2024, India’s first all-girls’ Sainik

School was inaugurated at :

(a) Bhopal

(b) Kohima
(¢) Vrindavan
(d) Namsai

In February 2024, Government of India has
decided to scrap the Free Movement Regime

(FMR) between India and :
(a) Myanmar

(b) Bhutan

(¢) Bangladesh

(d) Nepal

Who among the following is the author of the
book Why Bharat Matters ?

(a) L.K. Advani
(b)  S.Jaishankar
(c)
(d)

Mohan Bhagwat
Pranab Mukherjee
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